2025/10/14 22:06 1/3 ooog

good

ooy

g

O
O
O

0

O
O
O

AN—OOmoloO| w >

o|Nv|o|lo|lo|lo|lo|lo O

o|lo|lo|lo|lo|lo|lo|lo O

o|lo|lo|lo|lo|lo|lo|o O

[]
[]

J. Defend Your Country
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oo0o0od $0(n+m)$[

const int MAXN=1e6+5,MAXM=2e6+5,Inf=1e9;
struct Edge
int to,next;
edge MAXM<<1];
int head MAXN]|,edge cnt;
void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u/=edge cnt;

int Low|[MAXN!,dfn/MAXN|,sz/MAXN|,dfs t;
bool iscut[MAXN], fib[MAXN];
void dfs(int u,int fa
low/u/=dfnlul=++dfs t;
int child=0;
szlul=1;
int i=head|ul;i;i=edge|i].next
int v=edgel[i].to;
v==Ffa ;
Idfn|v
dfs(v,u);
szlul+=sz/v];
sz|[v]%2&&low|[v]>=dfnlu
fiblul=true;
low[ul=min(low(u], low[v]);
low!v]|>=dfn{ul&&u!=fa
iscut|ul=true;
==fa)child++;

low|ul=min(low/ul,dfn[v

==fa&&child>=
iscut|/ul=true;

int alMAXN];
void solve
int n=read int(),m=read int
LL ans=0;
edge cnt=0,dfs t=0;
_rep(i,1,n
alil=read int();
head|1i!=0;
dfni ;
iscut
fib[i]=0;
ans+=alil;
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int u=read int(),v=read int

’
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Insert(u,v);
Insert(v,u);

N%2==
enter(ans);

’

dfs(1,1);
int det=Inf;
_rep(i,1,n
liscut|i
det=min(det,alil);
Ifib[i
det=min(det,ali]);

enter(ans-det*2);

int main
int T=read int();
T--
solve();
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